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1. Analyze the following code:
public class Test{
public static void main(String[] args){
intn=2;
xMethod(n);
System.out.printin(“nis " +n);
¥
void xMethod(int n){
n++;
by
by
(A)The code has a compile error because xMethod does not
return a value.
(B)The code has a compile error because xMethod is not
decleared static.
(C)The code prints nis 1.
(D)The code prints n is 2.
(E)The code prints n is 3.

2. IS a construct that defines objects of the same type.

(A) Aclass (B) An object

(C) A method (D) A data field

3. represents an entity in the real world that can be
distinctly identified.

(A) Aclass (B) An object

(C) A method (D) A data field

(%17 %9%F)



4, IS invoked to create an object.
(A) A constructor
(B) The main method
(C) A method with a return type
(D) A method with the void return type

5.Given the declaration Circle x = new Circle(), which of the
following statement is most accurate?
(A)x contains an int value.
(B)x contains an object of the Circle type.
(C)x contains a reference to a Circle object.
(D)You can assign an int value to Xx.

6.Which of the following statements are true?

(A)Local variables do not have default values.

(B)Data fields have default values.

(C)A variable of a primitive type holds a value of the
primitive type.

(D) A variable of a reference type holds a reference to where
an object is stored in the memory.

(E) You may assign an int value to a reference variable.

7. What is the output for the second statement in the main method?
public class Foo{
static inti = 0;
static intj = 0;
public static void main(String[] args){
inti=2;
intk =3;
{
intj=3;
System.out.printin("i + j is" + 1 +j);
b
K=i+]j;
System.out.printin("k is " + K);
System.out.printin("jis " +J);

}
}
(A)k is 0 (B)k is 1
(C)kis2 (D)k is3



8.Which of the following statements are correct?
(A)A reference variable is an object.
(B)A reference variable references to an object.
(C)A data field in a class must be of a primitive type.
(D)A data field in a class can be of an object type.

9.0bject-oriented programming allows you to derive new classes
from existing class. This is called :
(A)encapsulation (B)inheritance
(C)abstraction (D)generalization

10.What is the value of times displayed?
public class Test{
public static void main(String[] args){
Count myCount = new Count();
int times = 0;
for(inti = 0; i&It;100; i++){
increment(myCount, times);

¥

System.out.printIn(“myCount.count =
System.out.printin(“times = “ + times);

«

+ myCount.count);

}

public static void increment(Count c, int times){
c.count++;
times++,;
¥
¥

class Count{
int count;
Count(int c){
count = c;
¥

Count(){
count=1;
}
}

(A)101
(B)100
(C)99
(D)98
(E)O



11.What is the output of the second printin statement in the main
method?
public class Foo{
inti;
static int s;
public static void main(String[] args){
Foo f1 = new Foo();
System.out.printin("fl.i is" + fl.i + "fl.sis" +f1.s);
Foo f2 = new Foo();
System.out.printin("f2.i is" + f2.i + "f2.sis" +f2.s);
Foo f3 = new Foo();
System.out.printin("f3.i is" + f3.i + "f3.sis" +f3.9);

¥
public Foo(){
i++;
S++;
¥
b
(A)f2.iis1f2sisl (B)f2.iis1f2.sis2
(O)f2.iis2f2sis2 (D)f2.iis2f2sis 1

12.Analyze the following code:
public class Test{
public static void main (String[] args){
Aa=newA();
a.print();
b

¥
class A{

String s;
A(String s){
this.s =s;
¥
void print(){
System.out.printin(s);
¥
by
(A)The program has a compile error because class A is not a
public class.
(B)The program has a compile error because class A does
not have a default constructor.
(C)The program compiles and runs fine and prints nothing.
(D)The program would compile and run if you change A a =
new() to Aa=new A("5").

(%47 %9%F)



13.3F K - 3247 & 5 800x400 e ¥ (% - § % hd iF 1L
256 4 ry (Bbi)sEH) A F R 5 eRE R ? GLiBrRARA

e “Byte”)

(A) 320KB (B) 450KB
(C) 280KB (D) 360KB

147 %A 30 R BM BT ARk R AY A S R R 2
-9
(A) %% wieia (B) ¥ i+ %
©) B # (D) & * FoR w2

15 &P A2 & 3k e
(A) - x4 zrrgﬁ*gﬂ
(B) * %4 B4l iFini by

(C) F#
(D) i} % & ptd
16. T5IJ9’K7F§_‘£-F;§€?§.%T§ # :ﬁg@ + 20 4 “&-iftxi—-ﬁ
7
(A) 7 E{;;;I;;;:i (B) 7 "oiEf

(C) #E4) & (D) #it = & 5

17. fragd A3 BRALELE CRMBE G4 DASR
E./R| (:é‘ B Tj‘F HEERERZ @9

(A) EBCDA (B) DCBAE
(C) EADCB (D) BDCEA

18. P M C:E= ¢ é%é*gqrﬁr’ HiE* cnscit » 11T PR— BAEIE 9
(A) #g’t? j\‘FE]T?F'XT}"‘ ¥ {fﬁ"ﬁi pEA 1% ;g —?-’DFT?FI
(B) #2353\ ¢ ¥ ragkiE ?i%“ﬁf #hig o
(C) #ac* KTk > ¥ A FRE - & F ~ahF

A A -

(D) #2358 ¢ ¥ R IT ~ e B R BPE o

19. B CHF 7 ¥ en¥d & T IR BaEIE?
(A) Woid (B) 235
(C) int (D) Double

20. 3 M CH 3 eniardlongiz » TR BRAE?
(A) while(x>0) do {y=3;}

(B) for(x<5) do {y=3;}
(C) while(x>7 || x<2) {y=3;}



(D) do (x>0){y=3;} while(x<1)

21 £ CHEZehd Nt wl i ol LD G & &% 11T 8

P P
- BwRFF?
(A) char (B) int
(C) main (D) void

22.CE2ch3d E3Aws o @ % - B3 Afr3 e hid

w?

(A) \0O’ (B) ‘\n’

(C) ‘\t’ (D) \r’
23. T Cz2FEZ W iﬁ B I(Xx<3 && y>=5)4p ¢ ?

(A) (x>=3 || y<5) (B) (x>3 || y>=5)

(C) (x>3 && y<=5) (D) (x<=3 && y>5)
24, - CFEZT 3 B &K 0 TN BAED

(A) char s[]= "123"; (B) char s[]= "12";

(C) char s[]= "1"; (D) char s[3]= "123";

25. T 7| % — i Ackermann function iz > %F&@?‘Jﬂz ack(1,2)
e L P 9?
int ack(int m, int n) {
If (m==0) return n+1
else if (n == 0) return ack(m-1, 1) ;
else return ack(m-1, ack(m, n-1));}
(A) 3 (B) 4
(C)5 (D) 6

26. T 7| S swap(a,b) B R~ afe b B R o R R
BU B~ T AR At 7
swap(int a, int b)

{
( );
b=a/b;
a=a/b;}
(A) b=a+b (B) b=b*a
(C) a=atb (D) a=a*b

27. % n=10 pF » T F|vhiw efg st M;ﬁvﬁ%]ﬂ::s-g% L9
int sum(int n){
if (n==0) return O;
else return n+ sum(n-1);}
(A) 15 (B) 54



(C) 55 (D) 330

28. T A" C3F 3 ATR cifie oo m=2>n=10 §4 7 % 1 B
Z2ELR?
int f(int m, int n){
if(n == 1) return m;
if(n > 1) return m * f(m,n-1);}

(A) 12 (B) 20
(C) 100 (D) 1024
29. - B F oV #k A e 2 kL& F0)=0;

F(l)—l'F(n) F(n- 2)+F(n 1), n=2- TI1% ¢ FT B S s
% ono ra«@ﬁg,l ,;:«,,;‘J‘_:Ef;#"%ﬁ;(% | F(n)snie 0;%— 10 7 &
BoTowiitdp iz d g @i (Tizie n22) Kg v @

- B e F(n)enig) -
int Fib(int n)
{
int f0=0;
int f1=1;
int f;
inti;
for(i=2;i<=n; i++)
{
f=fO+f1;
10. ;
11. f1=f;}
(A) f=f1; (B) f1=f;
(C) 10=f1,; (D) f1=f0;
= E

30. T AR Bt E 142434445 ch R 4 R B f T AL AL
- A R LA L B 7

©CoNOORWNE

1. sum:=0

2. while (x<=5) DO
3. begin

4, x:=1

5. sum:=sum+x

6. Xi=x+1

end
(A %1+
(B) % 4 {7
(C) %51



(D) % 6 {7

31. #* 0 #E.3EE T A = S time-complexity o
void f(int n)
{inti,S=0;
for (I=0;i*i<n;i++)
S:}
(A) 6(log n) (B) 6(n°®)
(C) 6(n) (D) 6(n log n)

32. T YIJ ,’::‘J @"E’ES 51 (Ilnked ||St)m5f3‘ H' {?

(A) ﬁw\n‘" - A FRE R 0(1)
(B) :%E'»xi i;ﬂi%fﬁ 0(1)
C) FH st F s Rt int
©) 1%L
33, FEELEE RN e B A AT ety
(A) DHCP (B) IP
(C) UDP (D) TCP
34. T Aw fﬁ - mﬁj—(bmary tree) s BPR— ﬁé v B ,;L—‘«}}:—‘;, 7| ’f‘-"lﬁv )2
AR € -tk o

(A) = & #t(left skewed binary tree)
(B) + *EAg(right skewed binary tree)
(C) = = ~#H(complete binary tree)
(D) =% = A (full binary tree)

35 Bk n LR F - BaR P 5 (linked-list) h A S g
P pBdd - LFRFTEITE DGR

(A) 6(1) (B) 6(log n) (C) 6(n) (D) 6(n log n)
-~ R ER (3%{10/&\;4 SOA.\)
(=) %z Bl AFERMN B- B RS ok © 2 Fli
(highest common factor) (10 5
e
% i & #c M, N » 1<M, N<10000 - M, N # R 1z 7 & (space)
F B
LR
M o e
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10 2

(= ) Develop a generic class Node of a singly linked list. (10 4 )

(Z) FfI* 5855 “ava’z it Bl » K35 - 425535 50 4
7] 100 & &0 4 & % o (10 A°)



